FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995

866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
ENTRYWAY ARBOR




“uas sired ay) UO paJewW SJaquinu ay) 01 Yorew 1ou op asay] "AJuo aouaJajal 1o} aie 3qeL saxog Jo JUaluoy) aUl Ul S1aquinu 1ied :81oN

=

pa4spaQO I
saseq Joyouy

paJspaQO I
sjo0g

SIe|S

"Arep

A

HH

S|aued [[eM Stj8IL

saoe.Ig 9aU

suoddng

s150d

‘ON

Buimeaq

uondiiosag

‘L0

S3X04d 40 INJLNOD

PI1

ENTRYWAY ARBOR
www. ForeverRedwood.com



'9zIS uo Bulpuadap AreA [IMm arempiey InoA Jo suolsuswiq ;910N

‘(s1sod ay 01 S100q B}
4 D———. yoene o] / 'spoddns ay) 01 S1e|S yoene o)
SMa10s %290 ,.£ X ..8
. m S — ‘(s1s0d 01 sjaued [jem sIj|a11 yoene o)
siog . % v X ..9T/S
q m R — ‘(s150d 8y 01 $3%eIQ 98UY BY) YoeNR 0] )
] ] siog .5 X ..9T/8
‘(s1s0d ayy 01
pue suoddns ay1 01 Sadelq dauy 8yl yoene
9 0] / s1sod ayy 01 suioddns ay) yoeny)
siod ,.€ X ..9T/S
q ‘(1s0d 8y 01 saseq Joyoue ay) yoene o])
syog Be7 ..€ X ,.9T/5
v ‘(punoJf ayy 01 Saseq Joydue ay) yoene o)
slog Joyouy | 7 X %
"ON Buimeaq uondiiosag
1S171 IHIVMALVH

P| 2

ENTRYWAY ARBOR
www.ForeverRedwood.com



“uas sired ay) UO payJeW SJaguiNU 3y} O Yorew Jou op asay] “AJuo 80uaJajal 1o} are BUIMEIQ 8y} Ul S1aquinu 1ied :81oN

sasegq Joyouy

sj00g

SIe|S

S|sued |IeAA SHHIBIL

saoelg 99U

suoddng

s150d

ON

NOILd1d0S3d

€]
n

AN
'
'

ol
oo

P|3

ENTRYWAY ARBOR
www.ForeverRedwood.com



NOTE: In order to know where the posts need to be placed, check the numbers on them. If the post is not marked, then place the
arched roof timbers on the ground to locate the markings for each post position and clearly set your bearings. (“Don't attach yet,
only place them on the ground to begin with”).

Step 1: Install the anchor bases (7) with %2~ X 4 anchor bolts (A) or lag bolts. Please see the “How to anchor your pergola
document” for all details. Set your post (1) in the saddle of the anchor bases. Drill a @ %" hole in the post prior to anchoring to
facilitate the ratcheting of the hardware. After that, use a 5/16"" X 3" lag bolts (B) to attach each post to its respective anchor
base.

5/16"" X 3" Lag Bolts

Step 2: Attach the supports (2) to the posts with 5/16” x 3” bolts (C) washers & nuts. Tap the bolt all the way into the wood to
set it. Then add a washer and nut and lightly tighten. Each part has a series of humbers that indicate where to attach the part with
the corresponding number.

5/16” X 3" Bolts

Pl 4
ENTRYWAY ARBOR
www. ForeverRedwood.com



Step 3: Attach the knee braces (3) to the supports with 5/16” x 3” bolts (C) and to the posts with 5/16” x 5 bolts (D), washers
& nuts. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16” X 3" Bolts

5/16” X 5" Bolts

Step 4: Attach the trellis wall panels (4) to the posts with 5/16” x 4 14" bolts (E) washers & nuts. Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

5/16” X 4% Bolts

A A AA WA A
A, A A A A inveilV

P|5
ENTRYWAY ARBOR
www. ForeverRedwood.com



Step 5: Attach the Slats (5) to the supports with 3” deck Screws (F). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

8" X 3" Deck screws

(T =T

P| 6
ENTRYWAY ARBOR
www. ForeverRedwood.com



/4’1/, 1 ;
¢

This completes the Arbor assembly. Hope you enjoy your set for many decades. If you ever have a problem or a
question, don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P|7
ENTRYWAY ARBOR
www. ForeverRedwood.com



